Simplification d’Expressions (A)

Simplifiez chaque expression.

1 —44y*+y—1+8ay 6. 4b+9+1+y*+b

2. 1+v+14u+l 7. =3¢ (=1)-(—c2) +z-(—1)

3.4-(—1)—|—a—1+av 8.Z2+a+1+1—a2

18y 12uy 30c
4. —— +9u+ e .0.
) 2y 9. 1OC—|—6a 9.3
5. =5y =V +8—v+c 10, —c+ut+cu—1+1
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Simplification d’Expressions (A) Solutions

Simplifiez chaque expression.

6. 4b+9+14+y*+b

1. —4+y*+y—1+8ay
=y>+5b+ 10

=y +8ay+y—>5

2. 14+v4+1+u+1 7. =3¢ (=1)-(—c2) +z-(—1)

=v+u+3 =-3c7—z
3. i-c(l;le)a—k_aS—l—i—av s 2 tatlil—a?
- =7 —a+a+2
18y 12uy 30
by ot 0. 1—OC+6a-9-3
c
= —9y+ 15u = 162a+3

5. —5v—1?+8—v+c 10, —c+ut+cu—14+1
= v —6v+c+8 —u+cu—c
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Simplification d’Expressions (B)

Simplifiez chaque expression.

. 34+4vz+5v-vz—57 6. —x+8—x>+1+7x

3cv? 6¢c 7.4-9v-v+b+5
C—1-(=3¢cv) 2

8. av—lO—f—7a—|—ﬂ

, vzt Vv av
—V ——+—2
< <
48u?
10u - U 612
w3 (=) 141 9. 10u S u-6u

15a* x*
. 9ab - (—10ab) - (—ab) - (— <2 ) 10. —6¢x-cx-cx — =
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Simplification d’Expressions (B) Solutions

—

. 3+4vz+5v-vz—57
=5y’ +4vz—57+3

3cv? 6¢?
C—1-(=3¢cv) 2
=3¢ +v

. 9ab - (—10ab) - (—ab) - (

= —270a°b>

Simplifiez chaque expression.

6. —x+8—x>+1+7x
— x>+ 6x+9

7.4-9v.-v+b+5
=36 +b+5

8. av—10—|—7a+ﬂ

av
=av+T7a—9
48u? ’
9. 10u - S -u-6u
= 360u*
15a* 6 X
_ 10. R . . -
5.2 CX-CX-CX 2
= —60°x° + 7
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Simplification d’Expressions (C)

Simplifiez chaque expression.

co| oo

10
2\ 1.2
5. (— : v (—1) — xy— —
5-(=3b%)-b 6y()x_1
.5y =9y (—y) - (=3yz) +57° 7. 10x—1+4+1—8x+38
10c¢ 8. bz —6bz—bz+ bz+5b
2+4cu—u——
—c
3 10
9. _5<_ﬂ)_|__
T—u-uz+uz+uz y —10
6u’ 10u?
.S—M—I—u—l—x—x2 10. —L—4x2—|— u
Su —u 10u
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Simplification d’Expressions (C) Solutions

-5+ (=3b%) - b
—156*

-
| ool o0

2. 5% —9y. (—=y)-(=3yz)+ 57
= 27y’ 7+ 5y* 457

10
3. 2—|—4cu—u——c

—C
—4cu—u+12

4, 7T —u-uz+uz-+uz
= —u’z+2uz+7

= —x"+u+x+1

Simplifiez chaque expression.

10
6. 2y-(—1) Xy

= —xy—2y+ 10

7. 10x—14+1—8x+8
=2x+8

8. bz —6bz—bz+bz+5b
= —5bz+5b

3ay 10
=5 —— —
9 )+—10

= 15a—1

10. ——— —4x" +
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Simplification d’Expressions (D)

Simplifiez chaque expression.

.4ux-(—u2)—5ux—u2-7 6. y* — 922 +6+y* 462

8by?
) b 7. 2 —54+6b—b

—c?—8c%+1+c+9c2

) ) bv?
Ty +3vy+vy+vi 4y 9. 7'9""""
3
UV 6 (—uv)+4 10. E.F%_f
4 <
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Simplification d’Expressions (D) Solutions

Simplifiez chaque expression.

1. 4ux-(—u2)—5ux—u2-7 6. y* — 922 +6+y* 462
= —dui’x — Sux — Tu? =2y"—92°+62+6
8hy’
b P -
2 242 +100+ T Tpy O TObb
_ 2
— 2474 10b+1 = —8y"+5b—5
) @
3 —C2—8C2+1+C+9C2 8. Z +;—2+1
=c+1 =72 4a—1
2
4 Ty 3y Fvy+vi+y 0. blz-9-v+v
=Ty " +4vy+v +y :‘)9bv+v
3
5. —u+v+6-(—uv)+4 0. §+¥_Z2
=’ —6uv—u+4 z z
=—z"4+10z+1
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Simplification d’Expressions (E)

Simplifiez chaque expression.

b? —1-1 c—7°
PR s, 6. —1=1+c-c=
—Z
2 ctb-c-(—4)-b 7. 1+T7ay+1+a+T7Ty
228, 2 b
3 5ate 44—z 8. 4be-c-3be——
y 56¢37
- L 7CZ'<—C)°(—C) 9. = 3+a+x—6-4x
3
5. 3u_5bi2_|_b_bi 10.u—|—8u2-(—u)—|—u2—u2
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Simplification d’Expressions (E) Solutions

(U

N

(98]

W

Simplifiez chaque expression.

b’ 1 —149c-c—2
138 R WULS L
— b —87-2
7. 14+Tay+1+a+Ty
cAboc (=4)b =Tay+a+Ty+2
= —4b°c+c
27 5 5 b
.2—Z2—|—z 4—z 8. 4bc-c-3bc—_—b
=4z — 12623+ 1
56¢3z
T 9. —34+a+x—6-4x
Tez-(=c)-(=¢) =a—23x—3
3M—5—b3—|—ﬁ 10.u—|—8u23-<—u)_|_u2_u
b = —8u” +u
= —bu—+3u—>5b
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Simplification d’Expressions (F)

9,

Simplifiez chaque expression.

. 2v—6a+a+a-+10

1+ 14+3u+u—"Tu?

—10x +x*> +u+5x+ u?

2vz Svz
—+8v+ —
2v —y

1 —b*>+9+2b+b

) b  3bc
b —3c ¢
10a*
1= 4
7 34+ 10a2+ a

8. —7vy+y> — v +vy+207

9. 6a+1+5z+z7—1
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Simplification d’Expressions (F) Solutions

—

N

W

W

Simplifiez chaque expression.

. 2v—6a+a+a-+10
=2v—4a+10

14+ 14+3utu—"Tu’
= —Tu* +4u

C—10x 4+ x>+ u+5x+u?
= x>+ u’—5x+u

1—0*4+94+2b+b
= —b*+3b+10

b 3bc

o 7b —3c.c
= bc+1

10a*
- 4
T e T

—a’>+4a—2

8. —Tvy +y2 —\/2—|—1/y—|—2v2
= —6vy+y* +v?

9. 6a+1+5z+z—1
= 6a+ 6z

5 —4x
= —6ux+x—4
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Simplification d’Expressions (G)

Simplifiez chaque expression.

.cx-3+5+c-8 ; 35by b*
- 5by  —b-(—b?)

. 1—|—u2—l—|—u

— 7. —ab-(=3a)-(—1)-7-ab
50
_ SCX—|—1—4x—|—x T2 22 ,
X o
S o )

V=4 +y—8vz+1
9. 106>+ b+ 10b+b>+5b

i Tu )
A 10. 8by +9by +3by+7—3y
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Simplification d’Expressions (G) Solutions

—

[\

N~

hd

Simplifiez chaque expression.

.cx-3+5+c-8 35by b
e 6. —
3cx+8c+5 Sby  —b-(—b?)
= b7
4Pt
—u
_2 7. —ab-(=3a)-(—1)-7-ab
= U —J,—Lt+2 :—21a3b2
50
L cx+1_4x_|_x . V272 ( 2)
X ' A
= —10c—3x+1 7 (1) (=2)
= v’
V=4 +v—8vz+1
= —4? —8vz+2v+1 9. 100>+ b+ 10b+b> + 5b
= 11b* + 16b
{ Tu )
_ +Z—%— uz 10. 8by +9by +3by +7 — 3y
= —2uz+z-2 = 200y =3y +17
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Simplification d’Expressions (H)

Simplifiez chaque expression.

2 2

: 10u+u +1 4

1. 10z+31+z__|_4a 6. —u— 10u—+u Ou+4x
Z

48y* 42
7. ——y_10_|_i
2. —6—bu—b*+8-9b —6 1

2
3.249°+2+a+y 8. —106*-6-7b-(—1)-6b

2 22 5 372
4.z-3v"-3z7-(=1)-v 9. y-97.4z .
4 2 cX
5.;—1-(—y).(—vy) 0 x+1+604
cX
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Simplification d’Expressions (H) Solutions

Simplifiez chaque expression.

2 2
z 6. —u— 10u+u”+10u+4
1 102+ 32+ +4a e
— 14z +4a
48y? 4x?
7. ——— — 10+ —
2 —6—bu—b>+8-9b 6 T
— —bu—b>+72b—6 =8y —4x* — 10
3249y +2+a+y* 8. —10b*>-6-7b-(—1)-6b
=10y*+a+4 = 2520b*
2 22 372
:—9v3z3 3z
=36y7” —2
5 3_1.(_);2).(_\,),) cx
Y X 10. x+1+6¢c+ —
CcX
=—vy +1 =x+6¢c+2
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Simplification d’Expressions (I)

Simplifiez chaque expression.

_ 2 3
caz—1+5z2"+2az+1 " —1+5b2—y+y—
Y

2av?

=6V -8+ — —10x-6xy- (—10x) - 2y°-
V.84 S 7. —10x-6xy- (—10x) - 2y~ - x
)C2
. =y+by+b—by-(-1) et oot
L 245b%z*
=T+ Tx+6—1—x 9 :
" —5.7bz-72-(—b)

2yv—14+4y+10-7
Y Y Y 10. 202 —bv+3b+2+ by
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Simplification d’Expressions (I) Solutions

Simplifiez chaque expression.

caz—1+577+2az+1 2 y’
_ 2 6. —1+5b"—y+—
= 3az+35z y

=5b*+y*—y—1
2av?

.—6-v2-8+7‘w 7. —10x-6xy- (—10x) - 2y* - x
482 1y = 1200x*y?

2x?

. —y+by+b—by-(—1) 8. —cx—i—_—1+6+1
=2by—y+b = —cx—2x*+7
=T+ Tx4+6—-1—x o 245b%7*
= 6x—2 " —5.7bz-722-(—b)

=7z

2y—1+4y+10-7
Dy 10. 202 — by +3b+ 2+ by

=22 +3b+2
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Simplification d’Expressions (J)

Simplifiez chaque expression.

2 2
Tav+a—6-" 6. y2+5+27 4%
1% Y
cu> 1
3 (—u)+10-(—uz) —z 7 =y
—c -1
.—1-(—x2)—x+x2+1 5 9x%z
8.7+ ——-2—2
Oxz
U
——F5—1—6u’ 22
—1 9. 9z2-8z-2b2—|——Z2
8z
424_@64_42_}_ 1Oy2 2 2
TSy T 10. _Wyz_y +4y+9y
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Simplification d’Expressions (J) Solutions

ClV2

Tav+a— 6——
V2
="Tav—06

i( u)+10-(—uz) —z

—10uz —3u—z

. —1- (—xz) —x+x*+1
=2 —x+1

. ——+5—1—6u
— —6ut+tut+4

2

5c
4t == +4x +x
Scx

=4c*+4x° +c+x

Simplifiez chaque expression.

2

6. yz+5+2z2+)y7
= yz+272+6
; cu? 1
___.u
—c -1
= —u*+u
, 9%z
8.2 +—2—2
9xz
=72 4+xz—2
8bz>
9. 972 - 87- 2% 4 =
8z
— 144b*7 + b
10}’2 2 2
10, ——— — 4y 49
02 Y +4y+9y
=8y* +4y—1
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